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1 honey, happy, hand
2 (Dsinger (2 dancer
@pilot (& firefighter
3 A : Where are you from?
B : I' m from Japan.
4 A : Excuse me, where is the restaurant?
B : It soverthere.
5 (O The bank is behind the police station.
(2) The park is behind the zoo.
(® The library is next to the bank.
@) The post office is in front of the bank.
(5 The hospital is in front of the post office.
6 @ I like fall. It s cool.
@) | like summer. | can go swimming.
@ | like spring. | can see many flowers.
@ | like winter. | can make a snowman.
3 | like fall. We have Chuseok in fall.
/ A : Canyou come to my birthday party?

(3 doctor

B : (O Sure. @ Yes, | do.
(3 Not bad. (@) No, I don’ t.
(®) Yes, she can.
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(@ Excuse me?

8 () Sorry?
(® Areyou OK?  (4) Pardon me?
) | beg your pardon?

9 (@ Here we are. @) Here you are.
@ llive here. (4) Come back here.
(5) Here’ s your change.
10 A : What does your father do?
B : Heisapolice officer.
11 A : What do you want to be?
B : I want to be a cook.
12 @ I have a headache.
(2) Can you come to my concert?
® I mthirsty. Can | have some water?
@ I’ mtired. Can | go to bed now?
& I' m hungry. Can | have some pizza?
13 A : What will you do tomorrow?
B : I'will go skating.
14 A : How was your holiday?
B : O Sure. @I mfine.
(3 Goodidea. (@) It was great.
(®) It s December 10th.
15 Go straight and tum right.
16 A : Iwant towatch TV,
What do you want to do, Mina?
B : I don’t want to watch TV. | want to
play the piano.
I must do my homework. will you
help me?
: No problem.
> Hello, Mrs. Brown speaking.
. Hi, Mrs. Brown. This is Bill’s mom.
: Oh, Mrs. Kim. How are you?
. Fine, thanks. Ummm, Mrs. Brown,
Kevin can’t go to schook today.
- Why?
: Because he’s sick. He has a
stomachache.

17A:

W>w>w

o >
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1 vase, visit, violin

2 (D juice @ toy (3 honey (@) cap (5) eraser

3 A : Where s your classroom?

B : @ It son the first floor.

@ It s on the fifth floor.
® It s on the second floor.
@ It s on the third floor.
®) It s on the fourth floor.

4 (@I mfrom Canada. @) I' m from China.
@I mfromBrazil. @I mfrom ltaly.
3 I' m from America.

5 A : How much is this robot?

B : @If swarm. @ It s15dollars.
@It s70 clock. @ It s Tuesday.
®) It s March 3rd.

6 A : What do you want to do?

B : I'wantto ride a bike.

7 A : Excuse me. Where is the library?

B : Go straight and turn left at the corner.
It s on your left.

8 A : Howisitgoing?/B : Not bad.

9 (O How muchis it? (2) How old are you?
(3) Whatcolor isit? (4) What seasondo you like?
(5) What do you want to do?

10 A : When is your birthday?

B : It s May 10th. | got a doll last year.

11 A : What does your father do?

B : Heisafirefighter.
12 A : Howwasyourtrip?/B : Itwasnotgood.
A : Why?/B : The weather was not good.
13 @M A : What sthat?/B : | have no idea.
@) A : What will you do tomorrow?
B : I played baseball.
® A : Doyou like fall?
B : Yes, I do. It scool infall.
@ A : Where are you from?
B : I' m from Korea.
B A : May | helpyou?/B : Yes, please.



14 Bill is stronger than Minsu.
Jiho is stronger than Bill.

15 A : When is your piano concert?

- October 20th.

: What’s the date today?

: October 13th.

. Next Friday?

- Yes, Can you come to the my concert?

- Sure.

16 @ I'lltake it. () How much is it?
(3 Hereyouare. (4 It’s too expensive.
(5 Here’s your change.

17 A : Why?
B:

18 A : Hi, Jinho. How was your vacation?
B : It was great. | went to the museum in

Gyeongju.

>W>»W>w

1 A : Where are you from?
B : I' m from France.

2 A : Excuse me. Where is the bookstore?

B : @ It son the first floor.
@) It s on the second floor.
3 It s on the third floor.
@ It s on the fourth floor.
® It s on the fifth floor.

3 A : Isthis Apple Street?

B : @ Yes, Ido. @It sOK.
@ If ssunny. @ No, I can’ t.
(5 Sorry, I don’ t know.

4 (1) The restaurant is behind the post office.
(2) The post office is next to the restaurant.
(3 The bank is in front of the restaurant.

(4) The restaurant is between the bank and
the post office.

(5 The bank is between the restaurant and
the post office.

5 A : Do you like winter?
B : No, I don’ t. I like summer.
I can go swimming.

6 (@ Christmas (2) Teacher' s Day
(3 Parents’ Day (@) Children’ s Day
(5) New Year s Day

7 1 don’ t think so.
8 A : When is your piano concert?
B : This Saturday.
9 A : May I help you?
B : Yes, please. How much is this skirt?
A It s20dollars./B : OK. I' Il take it.
10 It s very hot. I' m so thirsty. Can | have
some juice?
11 A : What will you do this winter, Alice?
B : I'will visit my grandmother in Seoul.
12 A : Does your mother work?
B : Yes, she does. She isa nurse.
13 A : What do you want to be?
B : I want to be a firefighter.
14 A : Tony, how was your vacation?
B : It was great. | visited my cousin in
New York.
15 @ Can I have some bread?
(2) Can | have some pizza?
(3 Can | have some chicken?
(@) Can | have some juice?
(5 Can | have some sandwiches?
16 @ I'm taller than you.
2 I’'m bigger than you.
(3 I’'m stronger than you.
@ I’'m older than you.
(® I’'m faster than you.
17 A : May | help you?
B : Yes, please. How much is that toy
helicopter?
A : It’s thirty dollars.
B : It’stoo expensive.
How about that toy car?
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. It’s twenty dollars.
: OK. I'lltake it.
: What do you want to do for Mom?
- I want to make a flower.
How about you?
A : I want to cook for Mom.

2994 30)

1 Wking @ pen (3 house @) zoo (5) chair
2 (D) doctor (@ uncle (3 pilot (@) scientist
(5) teacher
3 A : Where are you from?
B : @ I' mfrom Japan.
@ I' m from China.
3 I' mfrom Korea.
@I mfrom America.
& I' m from Australia.
4 A : Where' syour room?
B : If son the second floor.
A : Oh, my room is on the second floor, too.
5 A : Thank you for your help.
B : (@ Yes,please. (2 Sure, | can.
(3 Sorry, I don’ t know.
(@) No problem.
(5 That' s too bad.
6 It s between the bakery and the library.
7 A : Do you like spring?
B : Yes, | do. If s warm and | can see many
floners.
8 A : Whenisyour birthday?/B : If sJune 10th.
9 A : How much is this bike?
B : It s20dollars./ A : It stoo expensive.
B : How about this robot? It s 7 dollars.
A : OK. T lltake it.
10 @ It shot. Let' s go swimming.
@ I' mhappy. Let s dance.
® I mthirsty. Can | have some water?
@ I’ mtired. | want to sleep.
® I' m hungry. Can | have some bread?
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11 A : What do you want to be?

B : I mfine, thanks. () lgetupat7.
(® I don’ t like math.
@ | want to be a teacher.
(® I want to have some pizza.

12 A : Whatwill you do this summer vacation?
B : Iwillgoonatrip./A : Great!

13 A : What did you do on Sunday?

B : I'went to the concert. How about you?
A : I wentto the zoo.

14 (@ The mouse is taller than the elephant.
(2) The elephant is bigger than the mouse.
(®The mouse is stronger than the

elephant.
(4) The elephant is smaller than the mouse.
(5) The elephant is shorter than the mouse.
15 A : How’s it going?
B:@/I'mJoon. (2 Yes,itis.
(® Thank you. (4)Notsogood.
(5 I’'m going to school.
16 A : Kevin, does your mother work?
B : Yes, she does. She’s cook.
A : What does your father do?
B : Heisateacher.
A : Wow! | want to be a teacher.
17 « Sorais older than Mina.
« Juri is older than Mina.
« Sora is older than Juri.
18 A : Let’s go shopping this afternoon.
B : Sorry, I can’t.
A : Why?
B : Because | have a piano lesson.



